Given g(x)=+6x*+11x? , use the derivative rule for inverse

!

functions to determine (g‘l) (8=2)) -

Q"[@(x)j = X

y)

(g")’[_"olx)] : g’/x\ = |/ Ly

-\ (x) =
(6 ) Lato] 9" (x> Vo
9';x> = L (avx3 +33x)
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6'(-—2): - /67 S o

























































































































































































































































































































































































































































































































